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QUESTION 1

What are two requirements for a VXLAN tunnel endpoint (VTEP)? (Choose two.)
A. TCP session tracking

B. MAC address learning

C. IGMP filtering

D. IP address learning of interested VTEPs

Correct Answer: BD

QUESTION 2

Which statement is true about highly available data center architectures?

A. All data center devices require the same level of uptime.

B. They require the use of a services block for non switching/routing devices.
C. They are never segmented into zones or PoDs.

D. During a failure, a data center should gracefully degrade.

Correct Answer: B

QUESTION 3

You are asked to create a new data center based on an IP fabric architecture. The data center must support many
segmented applications that require Layer 2 adjacencies. You decide to use EVPN-VXLAN as an overlay technology to
accomplish the task. To meet the requirements, each application will be placed in its own VLAN. In this scenario, what is
required for communication between VLANSs to occur?

A. IBGP and Q-in-Q

B. IBGP and MP-BGP

C. IBGP and MPLS

D. IBGP and GVRP

Correct Answer: B

QUESTION 4

Your company is deploying a private cloud based on OpenStack and has selected Contrail Networking as their SDN
controller. Which statement is true in this scenario?
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A. All bare-metal servers must run a vSRX instance for overlay tunneling.
B. All virtualized servers must run a vSRX instance for overlay tunneling
C. All bare-metal serer must run a vRouter for overlay tunneling

D. All virtualized servers must run a vRouter for overlay tunneling

Correct Answer: BC

QUESTION 5

What would you use to balance traffic loads between servers in a Clos Layer 3 data center fabric?
A. MC-LAG

B. multicast protocols

C. ECMP routing

D. BGP export policies

Correct Answer: C
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